



County of Hernando
Procurement Department
Carla Rossiter-Smith, Chief Procurement Officer
15470 Flight Path Drive, Brooksville, FL 34604

EVALUATION TABULATION

ITB No. 24-C00717/JG

Resurfacing of Powell Road from California St to the 589 Bridge

RESPONSE DEADLINE: May 19, 2025 at 10:00 am

Report Generated: Monday, May 19, 2025

SELECTED VENDOR TOTALS

Vendor	Total
Goodwin Brothers Construction, Inc	\$1,769,229.67
SUPERIOR ASPHALT, INC.	\$1,798,001.00
Ajax Paving Industries of Florida, LLC	\$3,285,986.00

POWELL ROAD - 589 TO CALIFORNIA

POWELL ROAD - 589 TO CALIFORNIA					Ajax Paving Industries of Florida, LLC		Goodwin Brothers Construction, Inc		SUPERIOR ASPHALT, INC.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	1	MOBILIZATION, DEMOBILIZATION, SPECIAL PROVISIONS, NPDES N.O.I. and NPDES N.O.T.	1	LS	\$220,000.00	\$220,000.00	\$123,000.00	\$123,000.00	\$144,807.23	\$144,807.23
X	2	MAINTENANCE OF TRAFFIC	1	LS	\$761,000.00	\$761,000.00	\$63,360.00	\$63,360.00	\$172,695.80	\$172,695.80
X	3	WORK ZONE SIGN (VMB) (POST MOUNTED SIGNS)	1	LS	\$5,000.00	\$5,000.00	\$45,000.00	\$45,000.00	\$5,000.00	\$5,000.00

EVALUATION TABULATION

ITB No. 24-C00717/JG

Resurfacing of Powell Road from California St to the 589 Bridge

POWELL ROAD - 589 TO CALIFORNIA					Ajax Paving Industries of Florida, LLC		Goodwin Brothers Construction, Inc		SUPERIOR ASPHALT, INC.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	4	CHANNELIZING DEVICE- TYPES I, II, DI, VP, DRUM, OR LCD	1	LS	\$15,000.00	\$15,000.00	\$27,000.00	\$27,000.00	\$2,500.00	\$2,500.00
X	5	CLEARING and GRUBBING (Includes Mailbox Relocates, Saw-cutting, Milling Butt-Joints, Asphalt Removal, Concrete Removal, Windrow Removal, Sign Removal and Relocates)	1	LS	\$173,000.00	\$173,000.00	\$47,062.00	\$47,062.00	\$45,000.00	\$45,000.00
X	6	SILT FENCE - Exclusionary Gopher Tortoise	150	LF	\$3.70	\$555.00	\$3.30	\$495.00	\$1.75	\$262.50
X	7	SILT FENCE - Water Run-Off Protection (SWFWMD)	1015	LF	\$3.70	\$3,755.50	\$3.30	\$3,349.50	\$2.01	\$2,040.15
X	8	6" CONCRETE w/ 3000 PSI and COMMERCIAL FIBER	228	SY	\$211.00	\$48,108.00	\$102.00	\$23,256.00	\$120.00	\$27,360.00
X	9	12" TYP "B" STABILIZATION, LBR 40	3716	SY	\$52.00	\$193,232.00	\$7.55	\$28,055.80	\$25.00	\$92,900.00

EVALUATION TABULATION

Invitation to Bid - Resurfacing of Powell Road from California St to the 589 Bridge

EVALUATION TABULATION

ITB No. 24-C00717/JG

Resurfacing of Powell Road from California St to the 589 Bridge

POWELL ROAD - 589 TO CALIFORNIA					Ajax Paving Industries of Florida, LLC		Goodwin Brothers Construction, Inc		SUPERIOR ASPHALT, INC.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	10	4" LIMEROCK BASE, LBR 100 (Paved Shoulder)	1750	TN	\$122.00	\$213,500.00	\$49.73	\$87,027.50	\$69.00	\$120,750.00
X	11	7" LIMEROCK BASE, LBR 100 (Turn Lane)	93	TN	\$168.00	\$15,624.00	\$86.63	\$8,056.59	\$90.00	\$8,370.00
X	12	9" LIMEROCK BASE, LBR 100 (Pork Chop Island)	25	TN	\$570.00	\$14,250.00	\$378.69	\$9,467.25	\$150.00	\$3,750.00
X	13	EXCAVATION (Paved Shoulder, Turn Lane, Pork Chop) (Loose Materials)	2684	CY	\$75.00	\$201,300.00	\$16.20	\$43,480.80	\$40.00	\$107,360.00
X	14	CLEAN IMPORT FILL	144	CY	\$200.00	\$28,800.00	\$42.80	\$6,163.20	\$57.51	\$8,281.44
X	15	1.5" MILLINGS (Delivered to H.C. Cobb Rd Site)	26902	SY	\$5.25	\$141,235.50	\$2.10	\$56,494.20	\$4.58	\$123,211.16
X	16	1.5" SP12.5 ASPHALT (Traffic "C") (4' Paved Shoulder, Turn Lane, Pork Chop Island)	3646	TN	\$170.00	\$619,820.00	\$183.24	\$668,093.04	\$135.00	\$492,210.00
X	17	1" SP9.5 ASPHALT OVERLAY & APRONS, Tie-Ins (Traffic "C") (Safety Edge)	1672	TN	\$192.00	\$321,024.00	\$192.22	\$321,391.84	\$142.00	\$237,424.00

EVALUATION TABULATION

Invitation to Bid - Resurfacing of Powell Road from California St to the 589 Bridge

EVALUATION TABULATION

ITB No. 24-C00717/JG

Resurfacing of Powell Road from California St to the 589 Bridge

POWELL ROAD - 589 TO CALIFORNIA					Ajax Paving Industries of Florida, LLC		Goodwin Brothers Construction, Inc		SUPERIOR ASPHALT, INC.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	18	SHOULDER & SWALE REGRADING	1	LS	\$54,700.00	\$54,700.00	\$21,981.12	\$21,981.12	\$45,000.00	\$45,000.00
X	19	PERFORMANCE TURF, SOD, BAHIA	16426	SY	\$7.00	\$114,982.00	\$3.50	\$57,491.00	\$3.22	\$52,891.72
X	20	PERFORMANCE TURF, SOD, FLORITAM/ST. AUGUSTINE	500	SY	\$10.00	\$5,000.00	\$3.54	\$1,770.00	\$9.66	\$4,830.00
X	21	FDOT SIGN ASSEMBLIES, (Single Post)	3	EA	\$725.00	\$2,175.00	\$2,226.97	\$6,680.91	\$1,150.12	\$3,450.36
X	22	ADA MAT, YELLOW (FDOT APL)	8	EA	\$300.00	\$2,400.00	\$720.00	\$5,760.00	\$280.63	\$2,245.04
X	23	4" TEMPORARY PAINT, SOLID STRIPE, WHITE	23620	LF	\$0.50	\$11,810.00	\$0.36	\$8,503.20	\$0.30	\$7,086.00
X	24	6" THERMOPLASTIC, SOLID STRIPE, WHITE	11810	LF	\$2.00	\$23,620.00	\$1.68	\$19,840.80	\$1.40	\$16,534.00
X	25	4" TEMPORARY PAINT, DBL. SOLID STRIPE, YELLOW	14920	LF	\$1.00	\$14,920.00	\$0.72	\$10,742.40	\$0.60	\$8,952.00
X	26	6" THERMOPLASTIC, DBL. SOLID STRIPE, YELLOW	7460	LF	\$3.50	\$26,110.00	\$3.36	\$25,065.60	\$2.80	\$20,888.00

EVALUATION TABULATION

Invitation to Bid - Resurfacing of Powell Road from California St to the 589 Bridge

EVALUATION TABULATION

ITB No. 24-C00717/JG

Resurfacing of Powell Road from California St to the 589 Bridge

POWELL ROAD - 589 TO CALIFORNIA					Ajax Paving Industries of Florida, LLC		Goodwin Brothers Construction, Inc		SUPERIOR ASPHALT, INC.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	27	6" TEMPORARY PAINT, SOLID STRIPE, WHITE	7420	LF	\$0.50	\$3,710.00	\$0.36	\$2,671.20	\$0.30	\$2,226.00
X	28	8" THERMOPLASTIC, SOLID STRIPE, WHITE	3710	LF	\$4.00	\$14,840.00	\$3.60	\$13,356.00	\$3.00	\$11,130.00
X	29	9" TEMPORARY PAINT, SOLID STRIPE, WHITE	832	LF	\$2.50	\$2,080.00	\$2.40	\$1,996.80	\$2.00	\$1,664.00
X	30	12" THERMOPLASTIC, SOLID STRIPE, WHITE	416	LF	\$7.50	\$3,120.00	\$7.20	\$2,995.20	\$6.00	\$2,496.00
X	31	15" TEMPORARY PAINT, SOLID STRIPE, WHITE	684	LF	\$2.50	\$1,710.00	\$2.40	\$1,641.60	\$2.00	\$1,368.00
X	32	18" THERMOPLASTIC, SOLID STRIPE, WHITE	342	LF	\$10.00	\$3,420.00	\$9.60	\$3,283.20	\$8.00	\$2,736.00
X	33	15" TEMPORARY PAINT, SOLID STRIPE, YELLOW	764	LF	\$2.50	\$1,910.00	\$2.40	\$1,833.60	\$2.00	\$1,528.00
X	34	18" THERMOPLASTIC, SOLID STRIPE, YELLOW	382	LF	\$10.00	\$3,820.00	\$9.60	\$3,667.20	\$8.00	\$3,056.00

EVALUATION TABULATION

Invitation to Bid - Resurfacing of Powell Road from California St to the 589 Bridge

EVALUATION TABULATION

ITB No. 24-C00717/JG

Resurfacing of Powell Road from California St to the 589 Bridge

POWELL ROAD - 589 TO CALIFORNIA					Ajax Paving Industries of Florida, LLC		Goodwin Brothers Construction, Inc		SUPERIOR ASPHALT, INC.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	35	20" TEMPORARY PAINT, SOLID STRIPE, WHITE	516	LF	\$2.50	\$1,290.00	\$2.40	\$1,238.40	\$2.00	\$1,032.00
X	36	24" THERMOPLASTIC, SOLID STRIPE, WHITE	258	LF	\$12.00	\$3,096.00	\$12.00	\$3,096.00	\$10.00	\$2,580.00
X	37	4" TEMPORARY PAINT, 2-4 SKIP STRIPE, WHITE	468	LF	\$0.50	\$234.00	\$0.24	\$112.32	\$0.20	\$93.60
X	38	6" THERMOPLASTIC, 2-4 SKIP STRIPE, WHITE	234	LF	\$1.50	\$351.00	\$1.44	\$336.96	\$1.20	\$280.80
X	39	4" TEMPORARY PAINT, 2-4 SKIP STRIPE, YELLOW	296	LF	\$0.50	\$148.00	\$0.24	\$71.04	\$0.20	\$59.20
X	40	6" THERMOPLASTIC, 2-4 SKIP STRIPE, YELLOW	148	LF	\$1.50	\$222.00	\$1.44	\$213.12	\$1.20	\$177.60
X	41	4" TEMPORARY PAINT, 6-10 SKIP STRIPE, WHITE	408	LF	\$0.50	\$204.00	\$0.24	\$97.92	\$0.20	\$81.60
X	42	6" THERMOPLASTIC, 6-10 SKIP STRIPE, WHITE	204	LF	\$1.50	\$306.00	\$1.44	\$293.76	\$1.20	\$244.80

EVALUATION TABULATION

Invitation to Bid - Resurfacing of Powell Road from California St to the 589 Bridge

EVALUATION TABULATION

ITB No. 24-C00717/JG

Resurfacing of Powell Road from California St to the 589 Bridge

POWELL ROAD - 589 TO CALIFORNIA					Ajax Paving Industries of Florida, LLC		Goodwin Brothers Construction, Inc		SUPERIOR ASPHALT, INC.	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	43	TEMPORARY PAINT, PAVEMENT MESSAGES	72	EA	\$75.00	\$5,400.00	\$72.00	\$5,184.00	\$60.00	\$4,320.00
X	44	THERMOPLASTIC, PAVEMENT MESSAGES	36	EA	\$125.00	\$4,500.00	\$120.00	\$4,320.00	\$100.00	\$3,600.00
X	45	RPM'S (Non-Low-Profile)	588	EA	\$8.00	\$4,704.00	\$7.20	\$4,233.60	\$6.00	\$3,528.00
Total						\$3,285,986.00		\$1,769,229.67		\$1,798,001.00

Cathy Tefft CPPB, NIGP-CPP, FCCM Procurement Manager
 For: Carla Rosister Smith SMS, PMP, GPC Chief Procurement Officer

EVALUATION TABULATION

Invitation to Bid - Resurfacing of Powell Road from California St to the 589 Bridge